

Level 5, 11 Exhibition Street Melbourne, VIC 3000 GPO Box 1994, Melbourne, VIC 3001 Telephone: (03) 8661 7764 Fax: (03) 9655 0410 Email: dimitra.doukas@air.gov.au

Mr Philip Lovel
Acting Secretary/Treasurer
Australian Road Transport Industrial Organisation
P O Box 5
SOUTH MELBOURNE VIC 3205

Dear Mr Lovel

Re: Annual Return of information contained in records kept by organisation (AR2007/434, 435, 436 & 437)

I have received your declaration dated 26 March 2007 providing information in accordance with subsection 233(1) of Schedule 1 of the *Workplace Relations Act 1996*. The documents were lodged in the Industrial Registry on 2 April 2007.

The documents lodged cover the required information for the **2007** Annual Returns of the organisation:

The documents have been filed.

#### **Documents on Website**

The Registry has created an electronic file for each registered organisation and branch which is accessible through the AIRC website. The documents lodged will be placed on the AIRC Website at http://www.e-airc.gov.au/278v, 278vqld, 278vtas, 278vvic.

### **Electronic Lodgement**

I encourage you to take advantage of the electronic lodgement service provided by the Registry for future lodgements. You may register as a user and then lodge your documents via the Electronic Lodgement page of the AIRC website at <a href="www.airc.gov.au">www.airc.gov.au</a>. Alternatively, you may send an email with the documents attached to <a href="mailto:riateam3@air.gov.au">riateam3@air.gov.au</a>.

Yours sincerely,

De la Contraction

Dimitra Doukas Statutory Services Branch 3 April 2007



The Industrial Registrar Nauru House 80 Collins St Melbourne Vic 3000

Attention: Dimitra Doukas

26 March 2007

Dear Ms Doukas,

Re: AR 2007/434; AUSTRALIAN ROAD TRANSPORT INDUSTRIAL ORGANIZATION & BRANCHES – OUTSTANDING RETURNS

Please find attached the statutory returns with respect to the Organization, and its Branches, except Western Australia, which has already been filed, for the year 2007. There were no branches created or dissolved during the 2006 year.

Attached is a list detailing the name and address of the organization and each branch. Under its rules, the organization and each branch is required to hold elections for the following positions:

- President
- Vic-President(s)
- Committee Members

As at 31<sup>st</sup> December 2006 the organization had 456 members and I declare that the Register of Members has been kept in accordance with sections 230 and 233 of the Workplace Relations Act 1996.

Please feel free to contact Mr. Paul Ryan on 0415 331 031 should you wish to discuss any matter raised herein. This return will also be forwarded electronically.

Yours faithfully,

Philip Lovel

Acting Secretary/Treasurer

ARTIO PO-Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO VIC PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO TAS GPO Box 1524 Hobart Tasmania 7001 T 03 6244 7436 F 03 6244 7910 E ed@tta.org.au

ARTIO WA 37 Cohn Street Carlisle Western Australia 6101 T 08 9355 3022 F 08 9355 3122 E reception@transportforumwaicom.

ARTIO QLD PO Box 325 Stones Corner Queensland 4120 T 07 3394 4388 F 07 3397 9324 E admin@qta.com.au



## Australian Road Transport Industrial Organisation – Victoria **Branch**

## 2007 Offices and Office Holders (as at 1 January 2007)

President:

Mr. David Sinclair

Chief Executive Officer

Westgate Logistics P/L

Locked Bag 1300

Port Melbourne Vic 3207

Vice President:

Mr. Tom O'Bryan

**Group Executive** 

Toll Transport

PO Box 410,

Altona North Vic 3035

Committee Member:

Mr. Peter Anderson

Group Sales Manager

**Border Express** 

136 Fairbank Rd

Clayton South Vic 3169

Committee Member:

Mr. Paul Freestone

Managing Director

Freestone's Transport Pty Ltd

20 Barrie Rd

Tullamarine Vic 3043

Secretary/Treasurer:

Mr. Philip Lovel

**Executive Director** 

PO Box 5

South Melbourne Vic

Victorian Transport Association

3205

- 1. The above is a list of the Offices and office holders (as at 1 January 2007) of the Australian Road Transport Industrial Organization (Victorian Branch) as required under S230(1)(b),(c) and (d) of the Workplace Relations Act 1996.
- The Branch keeps a register showing the name, postal address and nominated representative of each member company of the Branch in accordance with S230 (1) (a) and (2) of the above Act.

Date: 26/3/07

Acting Secretary/Treasurer

○ ARTIO POBOX 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO VIC PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO TAS GPO Box 1524 Hobart Tasmania 7001 T 03 6244 7436 F 03 6244 7910 E ed@tta.org.au

ARTIO WA 37 Cohn Street Carlisle Western Australia 6101 T 08 9355 3022 F 08 9355 3122 E reception@transportforumwa.com.au

ARTIO QLD PO Box 325 Stones Corner Queensland 4120 T 07 3394 4388 F 07 3397 9324 E admin@qta.com.au



## Australian Road Transport Industrial Organisation

2007 Offices and Office Holders (as at 1 January 2007)

President:

Mr. David Sinclair

Chief Executive Officer

Westgate Logistics

Locked Bag 1300

Port Melbourne Vic 3207

Secretary/Treasurer: Mr. Philip Lovel

**Executive Director** 

PO Box 5. Sth Melbourne Vic 3205

Victorian Transport Association

Committee Member: Mr. Peter Gaske

Executive Director, Queensland Trucking

Association Ltd

Transport Industry

House

PO Box 325

Stones Corner Qid 4120

Committee Member: Mr. Robin Phillips

**Executive Director** 

31 Davey Street

Hobart Tas 7000

**Tasmanian Transport Association** 

Committee Member: Ms. Debra Goostrey

**Executive Director** 

WA Forum

C/- 37 Cohn Street

Carlisle WA 6101

The above is a list of the Offices and office holders (as at 1 January 2007) of the Australian Road Transport Industrial Organization as required under S230(1)(b) and 1(c) of the Workplace Relations Act 1996.

Secretary/Treasurer

Date: 26/3/07

ARTIO PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO VIC PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO TAS GPO Box 1524 Hobart Tasmania 7001 T 03 6244 7436 F 03 6244 7910 E ed@tta.org.au

() ARTIO WA 37 Cohn Street Carlisle Western Australia 6101 T 08 9355 3022 F 08 9355 3122 E reception@transportforumwa.com.au

ARTIO QLD PO Box 325 Stones Corner Queensland 4120 T 07 3394 4388 F 07 3397 9324 E admin@qta.com.au



Australian Road Transport Industrial Organisation

## AUSTRALIAN ROAD TRANSPORT INDUSTRIAL ORGANISATION (TASMANIAN BRANCH)

Registered Office 31 Davey St. Hobart Tas 7001 Postal Address, P.O.Box 1524 Hobart.

2007 Officers and Office Holders.

Branch Secretary/Treasurer Robin Phillips Executive Director Tasmanian Transport Association. P.O.Box 1524 Hobart Tas 7001

Branch President, Ron Ward. General Manager Collex Tasmania P.O.Box 431 Rosney Park Tas 7018

Branch Vice President.
Philip Molineux
General Manager
Lloyds North
Tasmania.
P.O.Box 684
Quoiba
Tas 7310

Branch Committee Member Tony Stewart Manager Toll Tasmania. GPO Box I029K Hobart Tas 7000

Branch Committee Member John Debruyn General Manager West Coast Transport 8 River Road Burnie Tas 7320

(The above list of officers and office holders (as at January 2007) of the Tasmanian Branch of the Australian Road Transport Industrial Organisation as required under s230(1),(b) )c( and (d) of schedule 1B of the Workplace Relations Act 1996.

2 The Branch keeps a Register showing the name, postal address and nominated representative of each member company of the Branch in accordance with s230(1) (a) and (2) of Schedule IB of the above act.

I declare that the above information is a true and accurate record as at this date.

Signed,

Date 8/2/2007

Robin Phillips.

Tas Branch Secretary Treasurer.

$\circ$	ARTIO PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au
$\circ$	ARTIO VIC PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au
$\bigcirc$	ARTIO TAS GPO Box 1524 Hobart Tasmania 7001 T 03 6244 7436 F 03 6244 7910 E ed@tta.org.au
$\circ$	ARTIO WA 37 Cohn Street Carlisle Western Australia 6101 T 08 9355 3022 F 08 9355 3122 E reception@transportforumwa.com.ar
$\bigcirc$	APTIO OLD DO Box 325 Stones Corner Queensland 4120 T 07 3394 4388 F 07 3397 9324 F admin@dta.com.au



# Australian Road Transport Industrial Organisation – Queensland Branch

## 2006 Offices and Office Holders (as at 1 January 2007)

President:

Mr Tony Conlon

PO Box 117

Managing Director

Hamilton Qld 4007

MJ Conlon & Son

Vice President:

Mr Phil Russell

PO Box 1313

Eagle Farm Qld 4009

Russell Transport

Committee Member:

Mr Nick Cavanagh

PO Box 72

Director

Director

Archerfield Qld 4108

Cavanagh Bros Pty Ltd

Secretary/Treasurer:

Mr Peter Garske

PO Box 325

Executive Director

Stones Corner Qld 4120

Queensland Trucking Association Ltd

- 1. The above is a list of the Offices and office holders (as at 1 January 2007) of the Australian Road Transport Industrial Organisation (Queensland Branch) as required under S230(1)(b),(c) and (d) of the Workplace Relations Act 1996.
- 2. The Branch keeps a register showing the name, postal address and nominated representative of each member company of the Branch in accordance with S230(1) (a) and (2) of the above Act.

Signed:

Date: 14th February 2007

Peter M Garske Secretary/Treasurer

ARTIO PD Bex 5 South Methodrise Victoria 376	6 <b>7</b> 03 9646 8690 <b>F</b> 03 9646 8596 .	🗜 กระกรทั้งเหลิงกล ดอกก.ละ
--	---	----------------------------

<sup>்</sup> ARTIO VIO FO Bex 3 South Mellogene Vigtoria 3208 T 03 9646 8590 F 03 9646 8598 E reception@vta.com ini

<sup>:</sup> ARTIO TAS: 6PO Box 1524 Hobset Tesoseria 7004. T 63 6244 7436: F 63 6244 7910. E econtalors de

<sup>💮</sup> ARTIO WA 37 Colin Street Carible Western Australia 6101. T 06 9355 3022. F 06 9355 3122. E reception@transportforcmwa.com.wa

ARTIO QLD PQ Bev 125 Stones Camer Queensland 4120 T 07 3394 4388 F 07 1397 1324 E administratio com au



## **ARTIO BRANCH ADDRESSES**

## **ARTIO**

PO Box 5, South Melbourne VIC 3205

**ARTIO** – Victoria Branch

PO Box 5, South Melbourne VIC 3205

ARTIO - Western Australia Branch

C/- 37 Cohn Street, Carlisle WA 6101

ARTIO – Tasmania Branch

31 Davey Street, Hobart TAS 7000

**ARTIO – Queensland Branch** 

Transport Industry House, PO Box 325, Stones Corner QLD 4120

( ) <b>artio</b> pob	lox 5 South Melbourne	Victoria 3205	T 03 9646 8590	F 03 9646 8596	E reception@vta.com.au
----------------------	-----------------------	---------------	----------------	----------------	------------------------

ARTIO VIC PO Box 5 South Melbourne Victoria 3205 T 03 9646 8590 F 03 9646 8596 E reception@vta.com.au

ARTIO TAS GPO Box 1524 Hobart Tasmania 7001 T 03 6244 7436 F 03 6244 7910 E ed@tta.org.au

ARTIO WA 37 Cohn Street Carlisle Western Australia 6101 T 08 9355 3022 F 08 9355 3122 E reception@transportforumwa.com.au

<sup>○</sup> ARTIO QLD PO Box 325 Stones Corner Queensland 4120 T 07 3394 4388 F 07 3397 9324 E admin@qta.com.au